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Psychology 101										           Classical Conditioning Assignment
8 pts
Every time someone flushes a toilet in the apartment building, the shower becomes very hot and causes the person to jump back. Over time, the person begins to jump back automatically after hearing the flush, before the water temperature changes.
A.  This example is classical conditioning.  Identify the following: (5 pts)
· The US
· The UR:
· The NS:
· The CS:
· The CR:
B.  Explain how extinction would take place in the example above: (3 pts)



Extra Credit: (2 pts)
[image: C:\Users\sbowman\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\PQBRWIEN\MC900330300[1].wmf]Explain how generalization might occur:

image1.wmf

image2.wmf

